SR6EE TAITHETE
{A\Eﬁﬂa A T64E6 420 H
%
7A 146 | 24 | 34 Q17 ELD

1 |H| 6 0 6 |EERE 2FEAZ—riyy MFEmMERYE RATEZ L SCHRRE All | - | All BEA 47 | 54 |64 it
2 | k|6 0 6 |EERE 22— y) SFERBRY Bil1 | - | BIl1 (159175) {158 | 218 | 20R | 56 B
3 |x|l6 0 6 |[EERE 2F(X—yY SFERBRY ci1| - |cu
4 | K6 0 6 |[EERE 22— vy SFERBERY D12 | - |DI12 Ye7H11LB OR)~7H18H OK) FfEFaiHizsk
5 | 4|5 0 5 [fEHEEE 1Fa— ARG (6FR) 21 2—r oy SFmEEEL 1200402 KRR E12 | - | D13 8:40~ 9:25 1fR 4557
6 | ] - - - [EEEBRTShdHDOOL (MBAR . 9:35~10:20 2[R 45%
T | B - - - |EAvGESRERE k) . 10:30~11:15 3R 4557
8 |H|[6 6 6 |2FETFANEEIHAM SCHEIX Al2 | All | A12 11:25~12:10 ARR 454y
9 k|6 6 6 |2FT7ANEEIHAR B12 | B11 | B12 12:20~12:30 SHR
10 | &6 6 6 |2FETANMLHIHAM c12 | ct11 | c12 12:30~12:40 ek
11 | K| 4 4 4 |[7—AT— EBHREFAMTRE 2ETANRAN SR E (2%) D13’ | D12 | D13’
12 |4 4 4 4 [FEfETATHERE 2FETANKHIEIM FIkCADRE E13’ | E12 | E13 Y7A19H (&) #FEX
13 [+ - - - |WS2IyYNR—A I =97 (RKREE) = 8:40~ 8:50 SHR
wlale = - S 2R "R — 7)) = (AR ) - 8:50~ 9:20 KEFbx

SEERAEDD IV T AMNERIEEY FEN RS (HEK) CGRRE 9:25~10:00 e
15 Hl - - - |#EDH - 10:10~ LHR
16 | k| 4 4 4 |EMEFaiHEE BREBRE Al3 | A12'| A1
17 | K| 4 4 4 |EMEFaIPREE C13’| Cc12’| C13 Y8HADERTE
18 | A 4 4 4 |/EHEFeiHRE D14’ | D13’ | D14’ LHOK) AR (~8/2)
19 |40 0 o0 |#%EX BERdaEE (13:00) - - - SFHEFEE (~8/2)
20 | | - - - |F2EEXLHELGERE) EHTLERES—T U Xl A (NRYT—) = 11HH) ho A
21 | B - - - [0l EEE BREREMRE = 12H(R) REIA A
22 | A - - - |7—AT— SFEEEMSR EEEE (@) - - - 13HCK) ¥EBIRIER (~8/16)
23 | k| - - - |SHERAEG EEEE (8%F) BEASRE - - - 19HOR) 34EatIk A 28 4% A
24 | K| - - - |STERAER EEEE (&%F) - - - 20 H (k) SHEAEEFRFR(~8/22)
25 | A - - - |SHERAER EEEE (&%) - - - 23 (&) MBIk (~8/24)
26 | & - - - |STERMER EFEEE (&%) - - - A REAR B M B e EE (R 2 5)
21 | £ - - - |AidERERE R (AR ARY) Bl b3 #HE (KR =
28 |A| - - - =
29 | A | - - - |EFEEE(2FFE) - - -
30 | k| - - - |EFEEE (2% - - -
31 | K| - - - |PRAERREE SFEEEEE - - -

B ZRE(T/20~9/1) KRR (T/31~8/2) 1-24E{R3E 30k TH TR~
SEE B A EEAR R




	HPアップ用

